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Find out seasonal indices by method of moving average from following
data:-

S (Quarterly)
¥ (Year) I 11 11 v
2001 68 62 61 63
2002 65 58 66 61
2003 68 63 63 67
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In how many ways can the letters of the following words be arranged

separately?

(i) STATISTICS (ii)
OR

(@) ELEVEN € & 41 31l 9§ fhaw faas 99 o |aa 2
Ife T® g E 9 YR 8l N IR HAT &8I?

In how many ways can the alphabets of the word 'ELEVEN' be
rearranged, if every word begins from E and ends on N?

(b) <RI BTSS! A 2 G G T | 59D R Wifdepar @ A v
AT 872

Two cards are drawn from a playing card deck. What is the

MANAGEMENT

probability that the cards are jacks?
——— -
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Section 'A', containing 10 very short-answer-type questions, is compulsory.
Section 'B' consists of short-answer-type questions and Section 'C’
consists of long-answer-type questions. Section'A' has to be solved first.

"3 1.

R+ 2.

U3 3.

U3 4.

Section - 'A'

ferifea siftergadt weaf @ SR e Ar g § T
Answer the following very short-answer-type questions in one or two
sentences. (1x10=10)
IRy faeRor fd yspR @1 et 82 W forfag |

How many kinds of frequency distribution? Write the names.

Harg UghT | R IMey 27

What is meant by central tendency?

agfe fRaem T &1 93 fofau |

Write the formula of Quartile Deviation.

Complete the formula.

P.T.O.
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How many types of correlation? Write the names.
y=11.64 - 0.5x FHIHIOT § YAOTHA 0P BT A 187 |
Find out the regression coefficient in the equation y=11.64 - 0.5x.
frer & fadene Y &1 ¥= foaRag |

Write down the Fisher's formula of Index Number.

wrer o @ gRMTeT IR |

Give definition of time series.

qaigAE o @t fhae yer @) fafedt gl 87 A el |

How many methods of forecasting? Write the names.

e 10.TG0® @R o R SIRNY |

U=+ 1.

Give the definition of random variable.
Section - 'B'

fr=ifea oy ST WeEl @ ST 150—200 e W1 H R
Answer the following short-answer-type questions with word
limit 150-200 (5x5=25)
faciras wwe @ aa1 3merd 22 fEie el @ daem @ fafal o
R BT |

What do you mean by secondary data? Explain the various methods of
collection of secondary data.

OR

dgdd @ aR¥T QY| Igeds TUAT @1 ArEeRe A @l
AT |

Define mode. Explain the grouping method of computing mode.
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Calculate the standard deviation of a wage earner's weekly earning :
Week/a<re | 1| 2] 3| 4] 5| 6/ 7] 81 9 |10
S ks, | 54| 62| 63] 69 68| 71| 73| 78 | 82 | 84

OR
o sl @ el U Td TSl &1 fAwsar e Sid Py |
Find the Karl Pearson and Bowley's coefficient of skewness from the
following data :-
3MU(Income) | HH Less than 10 20 30 40 50 60
feaal @1 F@(No. of Persons) 15 32 51 78 97 100
ye 3. fmfeRaa wHer @ ufd &k ufsT & ey & W e AT @
A Ulic Hd DY
Calculate Karl Pearsons coefficient of correlation between the ages of
Husband and wife and comment on the result :
afer @ 3y (@)
Age of Husband (Year) 23 27 28 29 30 31 33 35 36 39
uafet o1 g (@)
Age of Wife (Year) 18 22 23 24 25 26 28 29 30 32
OR
YA W a9 97 9Es 87 98 deddy 9 R yer e 87
What do you mean by regression? How does it differ from correlation?
ue 4. e affest @ frer snaet Aderia @t ToFT BT
Calculate Fisher's ideal index numbers from the following data :
1999 2000

I P AT DA | A=
Commodity| Price | Quantity Price |Quantity

A 10 49 12 50

B 12 25 15 20

& 18 10 20 12

D 20 5 40 2

E 22 8 45 5

P.T.O.
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Calculate the third quartile from the following data:

Class/@f 03| 36 | 612 1220 2024
Fequency/3mgfe 6 21 25 16 | 12

U3 3.
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What is mean deviation? How is it calculated?
15 U G B X 3R ¥ ARt ot e eell & SR R deae
TOTIEH BT TOTAT HIFAY |

On the basis of following information of X & Y series of 15 pairs of
observatons, calculate co-efficient of co-rrelation :

Standard Diviation/JA1q fa=rer
X Series/=Io 6, =3.01

Y Series/SI 9y =3,03
X 3R Y aHeHTersl & fAger @ [ Well B AT = 122

Summation of products of corresponding deviation of X & ¥ series =122
OR

a1 R B §E T YEny e g -

2x-3y=0TAT 4y -5x-8=0

x, y, &I GO IO TR x 3R y @ 49 Hewdy 1o s
P |

The equations of the regression lines between two variables are expressed
as 2x-3y=0and 4y - 5x-8=0find y, ; both regression coefficients
and the correlation coefficient between x and y.

FIAAN | &1 M 27 el fzeiver o1 Fg@ aqmsy |

What is meant by Time Series? Describe the importance of Time Series

analysis.
P.T.O.
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Explain various fluctuations in a time series.
T Rigd B 4 IR B W) IR IR o o1 B @ Wi &7

What is the probability of getting all theHeads in four throws of a coin?
OR

gfe < oy B e & o 1 widdar ® 5 fdgait &1 anT (1) 9 B

(2) 9 9 a1fd@ e

Iftwo dice are tossed what is the probability that the sum of the numbers

showingwillbe (i)9  (ii) More than 9?

Section - 'C'

freifea §d SO WEAEl @ SN 300350 ¥ AT § <

Answer the following long-answer-type questions with word
limit 300-350 (8x5=40)

= | AT | 9gdar (fAs®) B AU BIfe |
Find out Mode of'the following data :

A RTA
Class intervals 10-20 10-30 10-40 10-50 10-60 10-70 10-80 10-90
Frequency 4 16 56 97 124 137 146 150

OR
3T IRFRATS BT A6 DI e IgeTed 24 8 |
Find the missing frequencies if Mode is 24.
@d (Expenditure) 0—10 10—20 20—30 30—40 40-50 IRT Total
uRart @ Wenr 14— 27 — 15 100
(No. of families)



